FTHAETRA10BHT SHERFREHEREE 10RORRER

MR EEEH(A) BERIREER(N) FEERZER(N) HERREER(N) BEEHRB(N) woE R (%)
(A) (B) (C) (D)=(A)+(B)+(C)
5 -8 Hi 5 -8 B 5 E:S Hi 5 £ H 5 E:S H 5 E:S H
£H# |26,759|28,053(54,812| 9,429| 8,819[18,248 136 159 295| 6,655 7,658(14,313|16,220|16,636(32,856| 60.62| 59.30| 59.94
HEIMEE 22 40 62 4 1 5 0 0 0 0 0 0 4 1 5| 18.18| 2.50| 8.06
&5t |26,781(28,093|54,874| 9,433| 8,820(18,253 136 159 295| 6,655 7,658(14,313|16,224|16,637|32,861| 60.58| 59.22| 59.88
55 18- 19MDIEHER
L AEEZH(A) BEMEEEH(N) TEEEEEH(N) HEAREER(AN) BEFELRHBN) B EE (%)
X4 (A) B © (D)=(A)+(B)+(C)
5 z &t 5 z B 8 L8 &t 5 z &t 5 z &t 5 z H
18%% 345 333 678 71 73 144 7 5 12 42 47 89 120 125 245| 34.78| 37.54| 36.14
195% 297 303 600 52 46 98 10 6 16 27 31 58 89 83 172| 29.97| 27.39| 28.67
it 642 636 1,278 123 119 242 17 11 28 69 78 147 209 208 417| 32.55| 32.70| 32.63
HESMEE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
&5t 642 636 1,278 123 119 242 17 11 28 69 78 147 209 208 417| 32.55| 32.70| 32.63
18ENILEREIZHLTIE (ERI16FE4A2BNLFRIGETATBEFTFN) DIREHLR
= £ E HARNRE E&R
e 2 B AR M () EEMREER(N) N TEEREEH(N) . HBEMREERAN) . BE %(‘:ji()i\;”(c) mwoE o (o)
5 = Hi 5 = Hi 5 E:S Hi 5 E:S HJ 5 X Hi 5 X H
18%% 91 87 178 23 40 63 2 1 3 27 25 52 52 66 118| 57.14| 75.86| 66.29




